

Mayor Depreo Councilmember L'Ecuyer At-Large Vacant Ward 1 Councilmember Moran Ward 2 Councilmember Morgan Ward 3 Councilmember Clark Ward 4

AGENDA

RECESS MEETING OF THE CITY COUNCIL

Monday, November 23, 2020 3:00 PM CST

Council Chambers, City Hall and via teleconference, if necessary

Call to Order.

Invocation

Pledge of Allegiance

Roll Call

Confirm or Adjust Agenda Order

Presentation Agenda.

Council Comments.

Public Comments on Agenda Items.

Policy Agenda.

Action Agenda.

- **1. 2020-328:** Motion to authorize Mayor Depreo to execute the agreement with Tetra Tech for debris monitoring services for Hurricane Zeta debris removal.
- 2020-329: Motion to accept and award the lowest and best bid received from Holliday Construction for Hurricane Zeta debris removal/disposal, authorizing the City Clerk to issue Notice to Proceed and further authorizing Mayor Depreo to execute the contract for same.

Routine Agenda.

Public Comments on Non-Agenda Items.

Executive Session - If Necessary

Adjourn/Recess.

NOTE: THE CITY OF DIAMONDHEAD WILL FURNISH APPROPRIATE AUXILIARY AIDS AND SERVICES WHERE NECESSARY TO AFFORD INDIVIDUALS WITH DISABILITIES AN EQUAL OPPORTUNITY TO SERVICES AND ACTIVITIES OF THE CITY. A WRITTEN REQUEST BY OR ON BEHALF OF QUALIFYING INDIVIDUALS SHALL BE SUBMITTED IN A TIMELY MANNER TO THE CITY CLERK.

AGREEMENT

THIS AGREEMENT, made and entered into this _____ day of _____, 2020, by and between City, a political subdivision of the State of Mississippi hereinafter referred to as the "City", represented by its Governing Body, and Tetra Tech hereinafter referred to as the "Contractor".

WITNESSETH:

WHEREAS, City has previously determined that it has a need for DEBRIS MONITORING SERVICES, and

WHEREAS, City, after soliciting Request for Qualifications for such services pursuant to City Request for Qualifications for DEBRIS MONITORING SERVICES, November 2020 (hereinafter Request for Qualifications or RFQ), City has awarded this contract to Contractor; and

WHEREAS, Contractor has represented that it is able to satisfactorily provide the services according to the terms and conditions of the Request for Qualifications, which are incorporated herein by reference, and the terms and conditions contained herein; and

NOW THEREFORE, in consideration of the above and mutual covenants contained herein, the parties agree as follows:

1. <u>Services to be Performed.</u> The Contractor hereby agrees to provide the City with DEBRIS MONITORING SERVICES, as requested and more specifically outlined in the Request for Qualifications, this Agreement and all subsequent official documents that form the Contract Documents for this Agreement.

2. <u>Time of Service</u>. Services shall be performed in a timely manner, as specified in the Request for Qualifications.

3. <u>Term of Agreement/Option of Renewal.</u> Services performed pursuant to this Contract shall commence upon a Notice to Proceed and continue for 90 days, unless cancelled or terminated as provided herein. This Contract may be extended for an additional 30 days, prior to the contract expiration and upon a mutual written agreement by the City and the Contractor. This option shall be exercised only if all discounts/prices, terms and conditions remain the same, and approval is granted by the City.

4. <u>Amendment of the Contract.</u> This Contract may be amended only by mutual written agreement of the parties.

5. <u>Assignment/Subcontracting</u>. The Contractor shall perform this contract. No assignment or subcontracting shall be allowed without the prior written consent of the City. In the event of a corporate acquisition and/or merger, the Contractor shall provide written notice to the City within thirty (30) calendar days of Contractor's notice of such action or upon the occurrence of said action, whichever occurs first. The right to terminate this contract, which shall not be unreasonably exercised by the City, shall include, but not be limited to, instances in which a corporate acquisition and/or merger represent a conflict of interest or are contrary to any local, state, or federal laws. Action by the City awarding a contract to a Consultant which has disclosed its intent to assign or subcontract in its response to the RFQ, without exception shall constitute approval for purposed of this Agreement.

6. <u>Cancellation</u>. City reserves the right to cancel this Contract, without cause, by giving thirty (30) days prior written notice to the Contractor of the intention to cancel, or with cause if at any time the Contractor fails to fulfill or abide by any of the terms or conditions specified.

Failure of the Contractor to comply with any of the provisions of this contract shall be considered a material breach of contract and shall be cause for immediate termination of the contract at the discretion of City.

In addition to all other legal remedies available to the City, City reserves the right to cancel and obtain from another source any services which have not been provided within the period of time stated in the RFQ, or if no such time is stated, within a reasonable period of time from the date of order or request, as determined by City.

In addition, in the event that sufficient budgeted funds are not available for a new fiscal period, the City shall notify the Contractor of such occurrence and the Contract shall terminate on the last day of the then current fiscal period without penalty or expense to the City.

7. <u>Compensation</u>. As compensation for the Contractor providing services to the City as described herein, the City shall pay the Contractor in arrears, based on the submission of invoices for work done and the approval of said invoices by the Governing Body of the City.

8. <u>Permits/Licenses.</u> Contractor must secure and maintain any and all permits and licenses required to complete this contract.

9. <u>Audit.</u> The Contractor shall retain all records relating to this contract for a period of at least three (3) years after the final payment is made. All records shall be kept in such a way as will permit their inspection.

10. <u>Minimum Insurance Requirements</u>. The Contractor must maintain insurance in at least the amounts required in the Request for Qualifications throughout the term of this contract.

11. <u>Indemnification</u>. Contractor shall indemnify, pay the cost of defense, including attorneys' fees, and hold harmless the City from all suits, actions, or claims of any character brought on account of any injuries or damages received or sustained by any person, persons or property by or from the said Contractor, or by, or in consequence of any neglect in safeguarding the work; or by the use of unacceptable materials in the construction of improvements; or by or on account of, any claim or amounts recovered under the "Workers' Compensation Law" or of any other laws, by-laws, ordinance, order or decree, except only such injury or damage as shall have been occasioned by the sole negligence of the City. The first ten dollars (\$10.00) of compensation received by the Contractor represents specific consideration for this indemnification obligation.

12. Governing Law. The laws of the State of Mississippi shall govern this Agreement.

13. <u>Severability</u>. The terms and conditions of this agreement shall be deemed to be severable. Consequently, if any clause, term, or condition hereof shall be held to be illegal or void, such determination shall not affect the validity or legality of the remaining terms and conditions, and notwithstanding any such determination, this agreement shall continue in full force and effect unless the particular clause, term, or condition held to be illegal or void renders the balance of the agreement impossible to perform.

14. <u>Documents Comprising Contract.</u> The Contract shall include this Agreement for DEBRIS MONITORING SERVICES, as well as the following documents, which are incorporated herein by reference:

- a. City's Request for Qualifications and all of its addenda and attachments issued on November, 2020; and
- b. Contractor's Certificate of Insurance required in Section C of the Request for Qualifications; and
- c. Contractor's SUBMITTAL.

If there is a conflict between the terms of this Agreement and the above referenced documents, then the

conflict shall be resolved as follows: the terms of this Agreement shall prevail over the other documand the terms of the remaining documents shall be given preference in their above listed order.

IN WITNESS WHEREOF the parties herein have executed this Agreement for DEBRIS MONITORING SERVICES as of the day and year first written above.

CITY, MISSISSIPPI by and through its Governing Body

Mayor Nancy Depreo

ATTEST:

(Seal)

Jeannie Klein City Clerk

CONTRACTOR

By:_____

[Corporate Seal]

ATTEST:

By:_____(Attesting Witness' name/title)

																		Ham No O											
				Unit	TFR Interprises	Unit	Looks Great	Unit	Necaise Brothers																				tem No.2.
ITEM	DESCRIPTION OF SERVICE	UNIT	QTY	Onit	IFK Interprises	onic	Services	Unit	Const.	Unit	Ashbritt	Unit	DRC Servics	Unit	TCB Construction	Unit	Holliday Constr	Unit	GreenCo Serv	Unit JE Ta	alley	Unit	Rotolo Cons.	Unit	ERS	Unit	Custom Tree	Unit	Dynamic Group
COR	OR				21154SC		18782-MC		054004-MC		24039-SC		16054-MC		08-983-MC		13111-MC		N/A	20882-MC		14220-MC		09317-MC		CN 16025009		23869-MC	
BID BOND					10K		10K		10K		10K		10K		10K		10K		10K		10K		10K		10K		10K		10K
1	Vegetative Debris Removal from Public Property (right-of-way) and Hauling to Temporary Debris Storage and Reduction Site (TDSRS) 0-15 one way miles	СҮ	40,000	5.80	\$232,000.00	7.50	\$300,000.00	8.25	\$330,000.00	6.60	264,000.00	7.55	302,000.00	6.00	240,000.00	6.00	240,000	7.25	290,000.00	5	240,000	8.05	322,000.00	7.5	300,000	5.94	237,600	7	280,000
2	Vegetative Debris Removal from Public Property (right-of-way) and Hauling to Temporary Debris Storage and Reduction Site (TDSRS) 16-30 one way miles	СҮ	40,000	5.80	(111,000,00	9.00	¢260.000.00	8.25	6330.000.00		264 000 00	7.55	202.000.00	6.00	240,000,00	6.00	240.000	5.05	220,000,00	6.05	270.000	0.20	221 600 00		240.000	6.20	255 200	7.	204.000
	Reduced Vegetative Debris Removal from Temporary Debris			5.80	\$232,000.00	9.00	\$360,000.00	0.25	\$330,000.00	6.60	264,000.00	7.55	302,000.00	6.00	240,000.00	6.00	240,000	5.95	238,000.00	6.95	278,000	8.29	331,600.00	8.5	340,000	6.38	255,200	7.1	. 284,000
3	Storage and Reduction Site (TDSRS)and Hauling to Final Disposal Site 0-15 one way miles	CY	40,000	3.25	\$130,000.00	6.00	\$240,000.00	0.10	\$4,000.00	4.50	180,000.00	3.43	137,200.00	7.00	280,000.00	2.50	100,000	5.00	200,000.00	7.25	290,000	5.57	222,800.00	3.25	130,000	3.95	158,000	4.5	180,000
4	Reduced Vegetative Debris Removal from Temporary Debris Storage and Reduction Site (TDSRS) and Hauling to Final Disposal Site 16-30 one way miles	CY	40,000	3.25	\$130,000.00	7.00	\$280,000.00	0.10	\$4,000.00	5.00	200,000.00	3.95	158,000.00	7.00	280,000.00	2.50	100,000	3.00	120,000.00	7.75	310,000	5.97	238,800.00	5.5	220,000	4.45	178,000	5.25	210,000
5	Vegetative Debris Removal from Public Property (right-of-way) and Hauling directly to Final Disposal Site	CY	40,000	6.90	\$276,000.00	8.50	\$340,000.00	8.25	\$330,000.00	7.25	290,000.00	8.25	330,000.00	6.50	260,000.00	6.00	240,000	7.75	310,000.00	10.75	430,000	8.91	356,400.00	8.5	340,000	6.67	266,800	7	280,000
6	Construction and Demolition (C&D) Debris Removal from Public Property (right-of-way) and Hauling directly to Final Disposal Site	CY	10,000	7.75	\$77.500.00	8.50	\$85.000.00	8.25	\$82,500.00	7.25	72,500.00	8.25	82,500.00	7.00	70.000.00	7.50	75.000	8.25	82,500.00	11.75	117,500	8.79	87.900.00	9.5	95.000	6.98	69.800	9	90.000
7	Processing (Grinding/Chipping) of Debris at TDSRS	CY	40,000	2.25	\$90,000.00	4.25	\$170,000.00	3.75	\$150,000.00	3.50	140,000.00	3.65	146,000.00	2.60	104,000.00	2.50	- ,	2.75	110,000.00	2.75	110,000	3.51	140,400.00	4	160,000	2.85	,	3.5	140,000
8	Processing (air curtain incineration) of Debris at TDSRS	CY	40,000	1.90	\$76,000.00	3.75	\$150,000.00	2.00	\$80,000.00	3.00	120,000.00	3.25	130,000.00	1.75	70,000.00	1.50	60,000	2.25	90,000.00	2	80,000	3.51	140,400.00	3.5	140,000	1.95	78,000	2.9	116,000
9	Processing (Burning) of Debris at TDSRS	CY	40,000	0.50	\$20,000.00	3.25	\$130,000.00	1.75	\$70,000.00	3.00	120,000.00	2.5	100,000.00	1.25	50,000.00	0.20	8,000	1.50	60,000.00	2	80,000	2.81	112,400.00	2.5	100,000	1.85	74,000	2.5	100,000
10	Pick up and Haul of White Goods to Final Disposal Site	UNIT	50	25.00	\$1,250.00	25.00	\$1,250.00	75.00	\$3,750.00	40.00	2,000.00	25	1,250.00	35.00	1,750.00	10.00	500	75.00	3,750.00	50	2,500	105.44	5,272.00	125	6,250	55	2,750	20	1,000
11	Pick up and Disposal of Hazardous Material	LB	250	1.00	\$250.00	2.00	\$500.00	10.00	\$2,500.00	15.00	3,750.00	7.95	1,987.50	4.16	1,040.00	0.25	63	10.00	2,500.00	12	3,000	14.06	3,515.00	9	2,250	10	2,500	3	750
12	Freon Management and Recycling	UNIT	50	40.00	\$2,000.00	25.00	\$1,250.00	50.00	\$2,500.00	40.00	2,000.00	25	1,250.00	31.18	1,559.00	10.00	500	75.00	3,750.00	40	2,000	70.29	3,514.50	160	8,000	25	1,250	35	
13	Dead Animal Collection, Transportation and Disposal	LB	300	2.00	\$600.00	2.00	\$600.00	5.00	\$1,500.00	2.00	600.00	0.99	297.00	0.52	156.00	0.25	75	0.10	30.00	4	1,200	28.12	8,436.00	17	5,100	1	300	1	. 300
ļ	LEANING TREES AND HANGING LIMBS																												
14	6-11.99" Diameter	\$/tree		100.00	\$10,000.00	150.00	\$15,000.00	110.00	\$11,000.00	48.00	4,800.00	45	4,500.00		2,600.00			40.00	4,000.00	50	5,000	91.38	9,138.00	50	5,000	50	5,000	65	
15	12-23.99" Diameter	\$/tree		125.00	\$6,250.00	250.00	\$12,500.00	175.00	\$8,750.00	78.00	3,900.00	85	4,250.00		5,150.00				3,750.00	70	3,500	175.73	8,786.50	135	6,750	95	.,	180	- ,
16 17	24-47.99" Diameter > 48" Diameter	\$/tree \$/tree		150.00 175.00	\$3,750.00 \$1,750.00	250.00 250.00	\$6,250.00 \$2,500.00	225.00 250.00	\$5,625.00 \$2,500.00	108.00 150.00	2,700.00	150 250	3,750.00		5,700.00 3,112.50		,	90.00 150.00	2,250.00	125 225	3,125 2,250	281.16	7,029.00	280 400	7,000	195 400	4,875	320	
17	> 4s Duameter Hangers-Hangers will be considered any hanging/damaged branch remaining in the tree(s) above the ROW of 2' or greater diameter. The Contractor, at the direction of the City, will remove all hangers in the tree for a unit price per tree	\$/Tree	500	77.00	\$1,750.00	90.00	\$2,500.00	80.00	\$2,500.00	66.00	33,000.00	250	42,500.00		3,112.50	50.00		84.00	42,000.00	60	30,000	421.74 82.49	4,217.40	400	4,000	400	32,000	440	,
	HAZARDOUS																												
19	24. in. Diameter to 47.99 Diameter	STUMP	10	200.00	\$2,000.00	100.00	\$1,000.00	175.00	\$1,750.00	210.00	2,100.00	250	2,500.00					500.00		300	3,000	386.6	3,866.00	285	2,850	195		200	
20	48 in. Diameter and Greater Debris Removal from Water Bodies (Bays, Rivers, Streams,	STUMP	5	225.00	\$1,125.00	100.00	\$500.00	350.00	\$1,750.00	270.00	1,350.00	350	1,750.00	312.00		350.00		750.00	-	500	2,500	562.32	2,811.60	400	2,000	295	1,475	300	
21	Canals, Lakes)	CY	500	88.00	\$44,000.00	100.00	\$50,000.00	10.00	\$5,000.00	38.50	19,250.00	39.68	19,840.00	51.97	25,985.00	75.00		85.00	42,500.00	26	13,000	53.42	26,710.00	145	72,500	12	6,000	70	
					\$1,374,975.00		\$2,191,350.00		\$1,467,125.00		1,727,450.00		1,774,074.50		1,679,682.50		1,242,637.50		1,615,280.00		2,006,575.00		2,077,241.00		1,984,200.00		1,498,250.00		1,784,700.00